Q.1

Q2

Q3

Q4

Q5

Q.6

Q.7

Qs

Q9

PMC PRACTICE TEST 16

PHYSICS
Which of the following is not a conservative force
A. Friction
B. Eleclric
C. Magnelic

D. Gravitational

The 51 Unlt of electric charge 1s?
A. Coulomb

B. Ampere

C. Hertz

D. Vol

Which of the following §s equivalent to a temperature -150C?
A, 123K

B. -123K

C. 413K

D. 413K /

A. Uniform accelerated mulluu.
B. Otion with constant velocit
C. Motion with constaril sPnﬂf
D. Body at rest y ..
What is the duration of one cycle known as
A. Period  © N BN_ |
B. Cycle A N\
C. hshnmnuuus value ~

Dy Sl.n wave ' :
‘i"- lw nature nL cle:u’un Is :lm[llr 10—
A Pmlon o | /
B. Bela l'ﬂ‘j"_s ,_,-‘f_ \ F

C. Gamma ray's

D. All of these .

When an Ideal g,:i“ of constant mass s heated In n contalner of fixed volume.
What is the reason for the Increase in pressure of the gas?

A. Number of molecules per unit volume increases

B. Molecules occupy greater volume of the container

C. Average force per impact at the container wall increases

D. Molecules collide with each other with greater force

The basic reason why a full wave rectifier has twlce efficlency than hall wave

rectifler because
A. it uses lransformer

B. its ripple factor is much less

C. it uses both cyele as input

D. Outpul frequency is double the line frequency

Coherent sources are...

A. Monochromatic sources

B. Sources which produce waves of equal amplitude

C. Monochromatic sources which produce waves of constant phase difference
D. Sources which produce wave of same frequency

PMC PRACTICE BUNDLE 3 TEST 16 PAGE 1 OF 23

Scanned with CamScanner




Q.10

Q.11

Q.12

Q.13

Q.14

Q.16

Q.17

Q.18

What Is 1 radlan [n degrees approximately

A. 57.3 degrees

B. 360 deprees

C. ndegrees

D. n*2 degrees

The direction ol the restoring lorce Is always lowards:

A. Right hand

B. Upward

C. Rest or mean position

D. Exireme position

The process by which a heavy nucleus splits up Into lghter nuclel Is known
as

A. Fission

B. Fusion

C. Alpha-decay

D. A chain reaction

The fisslon reaction Is slow reaction

A. TRUE
B. FALSE z_/ :
C. True when neutrons slows down

D. Any ol these / }
Force acting on a posllh‘e charge Is nlwm'i Sours
A. In the direction opposile to .H:ctnc field
B. In the direction of electric field -

. In the direction peq:endmﬂn?‘fﬁclcclnc field ) ;
D In the dm:ctmn perpcnd:-:uhr to thehm of charg
Elnsteln Was a‘nar{l ed Nﬂbel Prize for his ‘I'ﬁ.'ll‘k on
A thml.‘.lmtrlc effect /
B Nuclem' fission
C Th:ury of r-:]nﬁwty
D. lllmcurrec: — . )
You have lhrcc capacltors, e:ll:h of 2 pC. In which of the following
tnmh[n:l[nns of the three up::ltnrs. the resultant capacitance Is SpC?
A. All three capacitors in ﬂ'mrs
B. Two capacilors are in series, one in parallel
C. Two capacitors are in parallel, one in series
D. All three capacitors in parallel
A L0 kW heater supplies energy to a liquid of mass 1 kg, The temperature of
the linuld changes by B0 K in a time of 400 s. The specific heal capacity of the
lnuld Is 4.0 kI / kg*K. What Is the average power lost by the liquid?
A. 100
B. 200
C. 400
D. 800
A 3 cm wire carrying a current of 10A is placed Inside a solenold of magnetic
field 0.35 T .The Net force [elt by wire Is
A LL5SN
B. 10.5N
C. 9.5N
D. 85N
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Q.19

Q.20

Q.21

Q.22

Q.23

Q.24

Q25

Q.26

Q.27

Whenever a transverse wave travelllng In a denser medium, Is reflected from
the houndary of the rarer medium...

A. The direction of ils displacement remains same

B. The direction of its displacement is reversed

C. The displacement disappears

D. The displacement becomes double

According to Faraday's Law, emf Induced In elrcult depends on

A, Max. magnetic Mux

B. Rate of change of magnetic flux

C. Change in magnetic flux

D. Initial flux

A polnt on a wheel has a constant angular veloclty of 3 rad/s. The angle
turned through in 15 seconds Is:

A. 45 mad

B. 10 rad

C. %0mrad

D. 5rad

Which of the following about Cp and |

A. Cp+Cv=R

B. Cp=R-Cv A "\
C. Cp+R=Cv A '
D. Cp=R+Cy '

According to Bohr's prlnl.'lple, what Is the rnl:.lllin between Il‘El-E'i'n'lm:lp:I
fuantum number lm! the I'Iﬂ"ll.i of the orbit? \‘\.\\\._
A rn L h > .
B. reclin
C. mn®2
»ml 'n""\
Cﬂulnmh per volt Is called:..
A. Ampere P -
B. Electron vull — '
C. Joule |

D. Farad ™~
The resistance nl’ a_conductor at absolute zero (0 K} Is

-u-"_,-

A. Almost zero |
B. Almost infinite
C. No prediction at all

D. May increase or decrease

Dual nature of light Is proved by :

A. Davisson nnd German's experiment
B. Black body radiation

C. Complon's effect

D. Photoelectric effect

Transformer [s hased on the theory of
A. Self inductance only

B. Mutal inductance

C. Capacilive effect

D. All of these
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Q.28

Q.29

Qa0

Q31

Q32

Q33

Q34

Q35

Q36

x-rays can be dellect by

A. Electric field

B. Magnelic field

C. BothA & B

D. None of these

A particle moves from polnt P(1,2,3) (o Q(2,1,4) under the action of a
constant force F= (2§ + | + k), work done by force is

A 2]

B. 47

C. 16]

D. 871

What will be the decay constant of 1 Curle sample of radloactlve substance of
mass 214, Its hall-lile [s 26.8 min?

A. 431x10"

B. 4.31x10%

c. 4.31x10° /\\
. 0.43] N

..!Lr:nrdlug to Wien's law lemperature u’ud way r.-]rn;lh are___ related
A. Equal .
B. Inversely

C. Directly

D. None of these
Centrilugal forcels a
A. Real lorce A
B. Friction force
C. Pseudo force

D. N{me of these -
At “'E, Iﬂglie;i Jrolnt nflﬂjlﬂnﬂ nhi:h uf llm I'u owing quantlties Is zero
.*L Hﬂnzuntal vc]oclt:.r : L

B Tulnl \tlnmty “
CY Veruml velucrt?- e
D. None nf these !
The Davissan Germer erpuinlmt is used to explaln
A. Interference i /
B. Polarization’, =
C. Diffraction
D. None of these
A potentiometer Is used to measure the emf( of a cell. At null point, no current
flows through

A. The main circuit

B. The cell circuit

C. Both the main and cell circuits

D. The potentiomeler wire

A car Is moving In a circular track of diameter 100m at a constant speed of
40m/sec. Find the centripetal acceleration?

A 42 mfs”2

B. 52 m/s"2

C. 32 m/s"2

D. 30 m/s"2
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Q37

Q38

Q39

Q.40

Q41

Q42

Q.43

Q44

Q45

Q.46

When path dilference between two waves are odd Integral multiple of hall
the wavelength, the resultant efTect Is called

A. Destruclive inlerference

B. Constructive interference

C. Beats

D. DifTraction

If the peak to peak voltage Is 10V, calculate the peak voltage.

A2V

B. 10V

C. 4V

D. 5V

Slope of adlabatle(ks) and Isothermal(kt) curve related as

A. Ks=vkt

B. Ks=kuy

C. ks=lkt

D. ks=2kt /

A square loop of side 2 m [s place ln a 5T of mngnetl-: field. What will be the
related Mux?
A. 2.5 Weber
B. 5weber
C. 10 weber
D. 20 weber

l!i-l.'lI I:Eegree R

Thr: outpuf voltage of a rectlﬂtr Is
A. Smooth N
B. Pulsaling '\
C. Perfectly direct
D. Altemnating '
A current of 16 amperes divides between two branches In parallel of
resistances 8 ohms and 12 ohms respectively. The current in each branch Is
A GAAGOA

B. 64A.96A

C. 46A,69A

D. 46A.96A

Which sct of elements have three isotopes

A. OH

B. 0.Cl

C. CLHg

D. All of them

Value ol current In a short clrcult Is

A. Infinite
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Q47

Q.48

Q49

Q51

Q.52

Q.54

B. Zero

C. Minimum

D. Maximum

The energy input to an engine Is 4.00 times greater than the work It
performs. What Is Its thermal efliclency?

A. 4.00

B. 1.00

C. 0.25

D. Impossible to determine

100 W heater Is switched on for 5 minutes to melt fce. What [s the mass of Ice
that melts at 0C, Specific latent heat of fuslon of lce is 334 J/g.

A 9g

B. 90 kg

C. l.5g

D. 1.5kg A1

Magnetic field 1s very strong where field llnu nre

A. Zero

B. Faraparl

C. Veryclose
D. None of these N _
A capacltor stores 5.3 x 104- I87C of ch:rge whm funnedld ﬂu G. ﬂ-\' battery.
How much charge does l!u c*pncltnr store when connected to a !‘ DV
battery?

A, 795 pC

B. 353uC
C. 795 pE‘

D. 35 3 pE -
A Inlttrlnl l: ade “llh hm llIlTi:rtnt sh:pu, 'hh ch surface will absorb more
hul!n less tlme N < &

A.. R::tnngulu: shiﬁ:"?ln:r
B. Gﬁﬁr shape of smn]lﬂ
C. Both will absofb same I'IH.I
D. eat ah:.i'_‘('jnu is mdep-:mitm of shape of material

Calculate the time taken l'l:lr the charges to complete the circuit if the total
charges were JlHll‘.'H] Cuulnm!: and the current of the circuit was 20 Amp?

A. 250 seconds \

B. 150 seconds

C. 400 seconds

D. 500 seconds

x-rays cannat detect

A. Sugar

B. Blood pressure

C. Choleslerol

D. All of these

The linear momentum is Increased by 10%,percentage change In the kinetic
energy will be

A 02]

B. 0.11

C. 0.22

D. 0.1

g
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Q.55

Q56

Q57

Q59

Q.60

Q.61

Q.62

Q.63

Q.64

The actlvity ol a certain nuclel decreases (o 15 % of Its original value In 10
days. Flnd lts hall Ule?

A. 2 days

B. 2. days

C. 1.65days

D. 4 days\

The angular veloclty of a minute hand of a clock is?
A. 2 /60 rads™!

B. w24 rads’!

C. 2 &/3600 rads”

D. a/3600 rads™!

BIOLOGY

Lymphold masses are present In the walls of;
A. Digestive tract

B. Mucosa

C. Submucosa

D. All of these are correct

A. Titn !
B. Myosin // '
C. Actin A .
D. All of these 4 .lll.
Reflex action s’ Ennlrnllﬂl IJ}"

Al I‘tnphurnl nervous systrm
B. Central 1 nervous systemi. "\
C. .ﬁ.ulunnmm nervous s}'stem
D: C:ri':’ﬁlmnw system

I‘hﬂ‘.nl.nitl-i In chloroplasts are mckﬂi into?

A. Gmnn /

B. Stroma - L

C. Nucleus—"

D. None of these

Which of the fﬁu;ﬁlﬁ"g I; the most complex sugar?

A. Monosaccharides

B. Oligosaccharides

C. Polysaccharides

D. Carbohydrates

Decreasing Vmax In uncompetitive Inhibitlon also decreases?

A, Km

B. Ko

C. Vo

D. Both A and B

Botilenecks Increases the alTect of which of the followlng?

A. Genetic linknge

B. Genelic expression

C. Genelic diversity

D. Gene pool

The abundant inhibitory neurotransmitter found In the CNS s called?
A. Gamma-glutamyltransferase
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Q.65

Q.66

Q.67

Q.68

Q.69

Q.70

Q.71

Q12

Q.73

B. Gamma-linolenic acid

C. Gamma-Aminaobutyric acid

D. None of these

The time when the sex organs start to become active is called:
A. The fentile period

B. Adulthood

C. Pregnancy

D. Puberly

Developing seeds are rich source of which of the following?
A. Auxins

B. Gibberellins

C. Cylokinins

D. Al of these

Garden snall belongs to which class of Mollusca?
A. Gastopoda

B. Cephalopoda /\
C. Mynapoda L

D. None of them
Mating with non-relatives is known “-'?1“'-&._
A. Inbreeding A N
B. Outbreeding ‘/‘f ‘\\Q
C. Breeding /i/ ' )
D. None of these

The size of Splrmhﬂﬂ Is :p]lrn!]m:telg
A. 0.75-1.25um | .

B. 100-200 hmo \

C.0.0-600m . W \\\.,.-

D. 500 um \ N /
The mov ement of genes from one l]:edr.'s to another is7
;L P:n*:lnmu: e N "

B. Expressmty
C. Cndnmmnnr:.e-
D. Lmkaﬁt*
Both radial and bilateral !\'I:Imelr} is found in which of the following
phylum? \ —

A. Prolozon

B. Porifera

C. Echinodermata

D. All of these

What is the structure In prokaryotic cells that often haolds antiblotic
reslstance genes?

A, Nuclens

B. Plasmid

C. Mitochondria

D. Both A and B

The pores through which water enters the sponge body are called:

A Osculi

B. Oslia

C. Opercula

D. None of the above
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Q.74

Q.76

Q.77

Q.78

Q.79

Q.80

Q.81

Q82

Q.83

The Mbrous connective tissue which attaches bone to bone Is called:

A. Tendon

B. Ligament

C. Relicular lissue

D. Canilage

A population of birds encounters a dramatic event that results In a severe
decrease in population skze. As a result of the newly-decreased population,
whalt type of genetle drift does this populatlon now exhibit?

A. Anrtificial selection

B. Founder affect

C. Botileneck affect

D. Both A and B

A complex cartllaglnous structure surrounding the upper end of the trachea
is called:

A. Glotlis
B. Voice box / \

C. Epiglottis

D. Vocal cords /“ \«.

Out of 31 pairs of spinal nerves, how many. paic of saera
P -

A S @ \ .

B. 10
C. 12 |

D. I5

A. 7Kaal / .
B. 8 Keal, ;
C. 7, 5 Lﬂl

D.7. fij{tnl \
All uf the following :ur.!lenterllu show alternation of generation except?
A lydm -
B. Obelia "
C. Aurellia

D. All of these
Darwin was greatly ir inﬂl:lﬂl:ed by

A. Essay on pupulunun by Malthus

B. Lamark's theory

C. L-Miller's evidence for origion of life

D. Mendel's paper on inheritance

The lipid vesicles used for drug delivery system called

A. Inositides

B. Lipoproteins

C. Liposomes

D. Drugoles

S-band locomotion Is characteristically scen in which of the following?
A. Bony lish

B. Fish like mammals

C. Canilaginous fish

D. All of these

What affect do enzymes have on the activatlon energy of a reaction?
A. Increases
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B. Decreases
C. No affect
D. Increases or decreases depending upon individual enzyme
Q.B4 What is the correct sequence of steps In cell fractionation?
A. Homogenizalion, centrifugation, separation.
B. Separation, homogenization, centrifugation.
C. Centrifugation, homogenizalion, separation.
D. Homogenizalion, separation, centrifugation.
Q.85 In the chest wall, the rib muscles are consldered as
A. Intercostal muscles
B. Pulmonary muscles
C. Bothand Aand B
D. Coastal muscles
Q.86 The optimal temperature for enzymes te work in body Is how many degree
celclus?
A 30
B. 32
C. 35
D. 37
Q.87 The phage that causes the Iytic r}de Is ::IIIEdT P
A. Virulent phage -
B. Lytic phage
C. Temperate phage A |
D. Both A and B4 i.l, y \«..\
Q.88 Which of the Inl.lnwlng would best determine the fitness of an organlsm?

A. The number of nf&pr}nmmhe arga E_n_'l_]/

B. How munh food the mgamm"cunmm in its lifetime.

C. Ht:}t Inrge the urgm:usm El'ﬂ"ll’ﬁ

D "Ihf: number of offspring | by the organism's own offspring.
Q.89 Wh[ch | graup ol animals \hnnt a ﬁtﬂtﬂuﬂhmo"

Al Echmudemtn 0 l :

B. Aﬂhmpodn '

C. Mollusea
D. BothBandC. ¢
Q.90 Sperms are pmdnud in;
A. Urethra '.‘ /
B. Pancreas
C. Sperm ducl
D. Teslis
Q.91 The epiglottls, a Nap of tissues covers the
A. Pharynx
B. Larynx
C. Glotlis
D. Nasal cavity
Q.92 Resumptlon of normal growth by a dormant embryo Is called?
A. Seed dormancy
B. Fruil ripening
C. Germinntion
D. All of these
Q.93 The Venus Nower basket Is also known as which of the following?
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Q.94

Q.96

Q.97

Q.98

Q.99

Q.100

Q.101

Q.102

Sycon

Leucosolenia

Spongilla

. Euplectelln

The cell wall of Archaebacteria does not contaln which of the lollowing?

A. Glycoproleins

B. Polysaccharides

C. Proleins

D. Peptidoglycan

Flagella might have arisen through the ingestion of which of the following?
A. Cyanobaclera

B. Chlamydomonas

C. Paramecium

D. Spirochetes

Coenzyme Q Is oxidised by which coenzyme In the ETC?

A. Coenzymec i
B. Coenzyme q
C. Cylochrome b
D. Cytochrome a e
The gene for muscular d}'stmphm Is ‘C-I]nlml.A female l:ﬂ'rk:r and an
unafTected male have one d:ughu-r lagrﬂn-r The dnuglllerh:sﬂ son with an
unafTected male, W h1lll tlu' bmh:h[llry lhl he son will not b!}fftﬂtd"

Akt

A 25%

B. 50% A

C. 5% £ %

D. 1 3

lnlfrncurnn J-i also knm as;
ﬂRelny,nmrqn

B SI:’I;EDF}’ neuron
C. Mixed neuron™ " 7

D.Synopse” \

What Is the 1hnpeﬁe pullut Irn:“‘
A. Rod

B. Spherical N

C. Tadpole "f -

D. Helical '

What Is meant by enzyme denaturation?

A. Peptide bonds between amino acid residues are broken.

B. The enzyme loses its secondary structure.

C. The enzyme loses ils tertiary structure.

D. All of the above.

Which of the following statements are true about the viruses?
A. Free living

B. Obligate parasites

C. Bolh Aand B

D. None of the above

Which of the following ls a form of asexual reproduction In prokaryotle
cells?

A. Binary fission and mitosis

B. Binary fission and meiosis
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Q.103

Q.104

Q.105

Q.106

Q.107

Q.108

Q.109

Q.110

Q.111

C. Binary fission and transformation

D. Binary fission

What Is the length of duodenum In cm?
Al 15-20

B. 20-25

C. 21-25

D. 25-30

How Is the ATP molecule used by the cell?
A. Synthesis of complex compounds

B. Active trnsport

C. Muscular contraclion

D. All of these

What is the coenzyme that facilitates the oxidation of fumarate?
A. TAD

B. PADH2
C. NAD /k K

D. NADPH 2
In the peripheral nervous system, the'’ ntn es that iu'lsn [irom spinal cord and
brain are called? b

A. Cranial nerves
B. Spinal nerves

C. Frontal nerves
D. Both A and l]

A. 20 days A
B. 28 days

HHHH“““wahh_‘:J////
D 40 dnys 1‘"'1 /
“’hirﬁ' is lruc ragnrdlng upeu :Iuln structure’of glucose
,L Th:re are smuynu;ﬂnc carbon

B. Them aré five asymmetric carbons

C. There mfuurﬁ;;;memu darbon

D. There #f¢ three aiymmﬂnr:}:arbnn

The fow of sap from cut phnts is:

A. Bleeding "-_‘ ~——t

B. Plasmolysis |

C. Imbibition

D. Guttation

Which ol these does not contain cartilage?

A. Bronchioles

B. Larynx

C. Trachea

D. Bronchi

An Inhibitor Is added, disrupting the functlon of a particular enzyvme. The
experimenter adds more subsirate, and enzyme function Increases agaln.
These results indicate the Involvement of what type of Inhibltor?

A. Noncompelitive

B. Uncompetilive

C. Allosteric

D. Compelitive
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Q.112 Ol the following, which one Is a light gathering structure?
A. Antenna complex
B. Reaction cenler
C. Photosystem
D. None of these
Q.113 Which of the following changes could lead (o loss of enzymatic function?
A. Decrease in activation energy of the reaction
B. Increase in enzyme concenlralion
C. Change in overall enthalpy of the reaction
D. Increase in pH of the reaction
Q.114 What's the dliference between homologous and analogous structures?
A. Homelogous structures result from a common ancestor; analogous slructures
result [rom repetitive usage by the individual
B. Homolopous structures result from convergent evolution; analogous structures
result from a common ancestor /
C. There is no dilference between homologous and analogous structures
D. Homologous structures result from a cnﬁiﬁiﬁn'mmmr_ analogous structures
result [rom convergent evelution |
Q.115 The diencephalon comprises of: '
A. Pons and medulla 1
B. Thalamus and limbic systér
C. Ponsand medulla
D. Hypothalamus and limbic system Y
Q.116 One simllarity between annelids and :l.rlh_rupuds
A. Closed clrculalnr_v sysh.m. _y
B. N:tmgcunus waste p-mdun:l is uric nm
C. V:mml nerve cord.
D Nnnc of iJu: above.
Q.117 In kllnel'e[ier s syndrome:
;L Dnc X chromosome is nussmg
B. Sex chromosome fail to segn.‘gate '
C. Additional sex chrumnmmu. is present
D. None of these .
Q.118 Which one of the following !_-l:"llnmtn'ls Is Incorrect?
A. Eggs in the ovaries ripcn when they meet a sperm
B. Girls are born with thousands of eggs in their ovaries.
C. Hormones control the release of the egg from the ovary.
D. One epg is released [rom the ovary about every month.
Q.119 One simllarity between annelids and arthropods:
A. Closed circulatory system.
B. Nitrogenous waste product is uric acid.
C. Venlral nerve cord.
D. None of the above.
Q.120 Which factars may help determine the antigenlcity of a vlrus?
A. Capsomeres
B. Size of virus
C. Whole capsid
D. Internal proteins
Q.121 Which of the following Is not a true characteristlc of gamelocytles?
A. Male gamelocytes are called spermatocyles
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Q122

Q.123

Q.124

Q.125

Q.126

Q.127

Q.128

Q.129

Q.130

B. Gamelocytes can divide by mitosis into other gametocytes

C. Female gametocytes are called cocytes

D. They are eukaryotic somatic cells

Breathing and heart rate is controlled by which of these?

A. Corpus callosum

B. Hippocampus

C. Medulla

D. Thalamus

The outer and inner membranes of mitochondria Spindle are?
A. Structurally and functionally different

B. Structurally different but functionally similar

C. Structurally and functionally strmuilar

D. Structurally similar but functionally different

Fatty aclds release conslderable amount of energy In oxldation and

A. Calvin cycle A

B. Kreb's cycle / L

C. Dark reaclion -

D. Light reactions A L
CHEMISTRY

Which of the following is the function of !‘ormalln? x

A. Antiseplic };’f |

B. Disinfectant -

C. Germicide 4 ."'.I
D. All of these s | |
The solids which dnu not pm llu."regul:r arrangeme’nl ol aloms are
called as_\ \ ? L B\
A Amu:phuus solids e
E A Crysia]llne solids '

e | Fnlymnrpf:ul: suhds

D. lsnnmrphjc solids :
Which one is not mtmh:r ul' ML:II metals?
A. Na ,
B. K
C. Cs
D. Mg 5
Ethene Is |1rv.'-|r.1rlitl [rom alcohol by T

A. Decomposition

B. Dehvdralion

C. Dehydroxylation

D. Dehalogenation

In tertlary alkyl halldes, carbon atoms Is attached to how many carbon
aloms?

A2

B. 3

C. 4

D. 1

Which ane contain non polar covalent bond

A N2

B. CI2

C. N2and O2
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D. All of these
Q.131 What Is the S.1. unit of pressure?
A. Nm™-2
B. Nm"2
C. mmof Hg
D. Alm
Q.132 Empirical formula and molecular formula of covalent molecule Is
A. DifTerent
B. Same
C. Variable
D. Equal
Q.133 A voltale cell produces electrical energy from
A. Polential energy
B. Chemical energy of [ons
C. Kinetic Energy
D. Free Electrons

A. Intermolecular forces
B. Van der Waal forces
C. Chemical bond

D. Weak forces

™ N
Q.135 Kinetle energy of the molecule may be all nfthe allnﬂngﬂupl"
[/}
-

A. Vibrational A

B. Tmnslnlmnnl,v’q ‘Illa :‘
C. Rotationale” \ \ .y \
D. Static ' .' B :

Q.136 ThE radm.'l {J\f Buhx‘s atnm dr:pmcL on the fuﬂu /

Al mul
B. dm"3
C. m*3 mol™|
D. m*3 mol
Q.138 Formle acld Is abtalned lrom r
A. Apples
B. Butter
C. Ant's sling
D. Feam
Q.139 The products of SNy reactlons are lormed with 7
A. Relention in configuration
B. Inversion in Configuration
C. 50% retention and 50% inversion in configuration
D. All of these
Q.140 Why aldehydes are more reactive than kelones?
A. Eleclronic reasons

B. Steric hindmnce
C. Bothaand b
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D. None of these
Q.141 Three dimenslonal folding of polypeptide chaln results In formation
of
A. Pnmary structure
B. Secondary structure
C. Teriary slructure
D. Qualernary structure
0Q.142 Maximum Hydrogen bonding Is found In
A. Chlonne
B. Ammonia
C. Waler
D. Hydrochloric acid
Q.143 The Increase In atemle vadll In _——Is due to Increase In the number of shells
and the screenlng cllect
A. Groups
B. Periods
C. BothA&B
D. None of these
Q.144 1,4-dimethyl benzene Is called as
A. Ortho xylene
B. Para-xylene /
C Para-methyl toluene &
. Meta-methyl tnlueue \I \
Q.145 Equlllhrlum l.'lll'l’! can he dra
A. Time and Speed . \"a
B. Temperature and Prus el
C. Time& Cnnccnlrnnuu T s
D. Pr‘-.:;mé Cnru:cnlrnlmn '.
Q.146 Tl:n elting polnts and Imlllu] pulnh up to llle middle of 3d- serles

D. No mguﬁ? trend
Q.147 Hess law Is a simple application of
A. Law of Mass Aclion
B. Law nf:nnsemunn of energy
C. Law ut'consen aimn of mass
D. Dalion's Law of partial pressure
Q.148 Protein component of enzyme Is called
A. Coenzyme
B. Cofactor
C. Apo-enzyme
D. Prosthetic group
Q.149 Planck's constant is defined as the ____ of encrgy and frequency of a photon,
A. Product
B. Sum
C. Ratio
D. None of these
Q.150 What Is the formula of ammonlum cyanate?
A. CH;CONCH,
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B. NH,CONH,
C. NH,CNO
D. NH,CHO
Q.151 Tetraethyl lead added to luel to -y
A. Decrease boiling point
B. Preven! heating
C. Prevenl freezing of fuel
D. Prevent knocking
Q.152 London force of interaction forms crystals
A. Covalent crystals
B. lonic cryslals
C. Molecular crystals
D. Metallic crystals
Q.153 In which manner H-Bond is formed in ITF molecule 7
A. Random
B. Zigzag
C. Teirahedral
D. Linear
Q.14 Elecirolyte can beln
A. Plasma state
B. Solution or Fused state /
C. Solid form £
D. Gaseous State |
Q.155 Reaction Inter mediult \ \
A. Cannot be Sepumadfrum fon mixture \ .7
B. Contain nunnalbundl\\\ \‘\ y

C. C:Lnbcmulated from reaction :Eimr_,‘ h""‘—"‘f"'

D, Both B Ad.C ”‘1
Q.156 Am-t'hlng under test or nh;emﬂnn in laboratory Is called
JL Su.nnundmg o

B. System” —

C. Confined spacé '

D. None ol these
Q.157 At the start of a rcn:l!nu{ﬂnnnnlnﬂnn of reactlants decreases

A. Slowly \\. =
B. Alcnnstunlrﬁt.e'
C. Rapidly

D. Exponentially
Q.158 It is very _—to remove electron from a positively charged lon than a neutral
atom due to Increase In nuclear charge
A. Easy
B. DifTicult
C. Moderate
D. None of these
Q.159 When a sulliclent amount of energy Is provided (o a neutral atom, It lonlzes
to form
A. Ton
B. Anion
C. Cation
D. Free radical
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Q.160 The positlve slgn in the rate expression for products deplcts
A. Decrense in concentration
B. Increase in concentralion
C. Increase in yield
D. Decrease in temperature
Q.161 Which one is the major product when ethene react with Br2 In 11,07
A. Dibromoethane
B. Bromoethane
C. Hydroxy Bromoethane
D. Hydroxy Bromoethane
Q.162 Oxldation Number can be
A. Posilive
B. Zero
C. Negalive
D. All of these A
Q.163 Crystals ol Na2CO0J3. 1 H20 when exposed ln llr
A. Lose water and remain solid TN
B. Gain water and remain solid
C. Gain water and become liquid
D. Remains unchanged : ~
Q.164 In a carboxyllc acld :Ilm;r how many H—bnmls are pmﬂll

—

A. Three
B. Two
C. Five
D. One r : ;
p *
Q.165 In the reaction; Zn + Cu! ZnS04 +Cu, Which of the following change
- iy

1hnﬂ thlt rmin: rencﬂml tlLu khi‘e at once 2 il
A Blue l:ulur pppears ""L 4
B. Efrlz color disappears .

C Tl:mp-:mture of thﬁ?uhuundmg dﬂn‘msrs

D. Nﬂnc ofthese .
Q.166 What s the omplr‘.lrnl I'urmula for the followlng molecular formula C5SH12
A. CSHIZ™ |
B. CSHE A
C. CH2 \.\"“—" '
D. C2.5H6 \

Q.167 Which of the following undergoes cannlzzaro reactlon____ 7
A. Benzaldehyde
B. Acetone
C. Benzophenone
D. Benzyl alcohol
Q.168 The maximum probabillty of Minding an electron Is at distance of
A, 0.53mm
B. 0.53am
C. 0.133nm
D. L.53mm
Q.169 Il we decrease temperature of a gas 2 times, [ts volume will
A. Increase 4 limes
B. Decrease 4 limes
C. Decrease 2 limes
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D. Increase 2 times
Q.170 Ammonla may be prepared by heating ammonlum chloride with
A Waler
B. NaCl
C. Aqueous sodium hydroxide
D. H2504
Q.171 Which color of precipltates are formed when carbonyl compounds react with
L2-dinitraphenylhydrazine?
A. Yellow or red
B. Orange or blue
C. Green or red
D. Yellow or orange
Q.172 The four C-II bond of methane are formed by overlap of
A. sp3-s
B. sp2-s2
C. sp3-s2
D. sp3-sp3 o
Q.173 The catalyst used for ether rnrm:Uon’b} dehylmtlnn ol alcohols
A. Cons HN3at 14 C \
B. Cons H2504 at |4C
C. Hot HiPO4 at IEC
D. ZnCR2at45C & N
Q.174 2 moles of n:hnn[ CEIIIE] b'llrns with 25 mu[H ur oxygen [01) and produced
mnles of I::H"hl‘.l'l'l dlm_{dn along with 18 moles ul"rr:lu'.-

’_.

C. ls/)\ .
D 2 u'! /
Q.175 'I'he renlrnl atom along wllh Ilgand: is called
JL Compli::{ o=
B. Cuaﬁmnmu sphere
C. ngnnl:l \
D. Complex compound |
Q.176 Who rejected yital for l'urm theory
A. Wohler AN
B. Berzelius
C. Wallis
D, Lyll
Q.177 The simplest hydrocarbon to have structural Isomer Is:
A. Butane
B. Butanone
C. Butene
D. Butyne
Q.178 Optimum pll of salivary amylase Is:
A, 7-7.5
B. 6-6.5
C. 6.4-6.9
D. 6.3-6.7
Q.179 Dalton's law of partial pressure Is used to derive the relatlon between Kc and
A. Temperature
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B. Universal Gas constant
C. An
D. Kp
Q.180 In Rhombohedral system, all three angles lles between _degree
A 9& 45
B. 9&2
C. 9& 12
D. 12&18

ENGLISH

Comprehend key vocabulary

Q.181 Excuse me, Could you me the way Lo the lown hall?
A Lel
B. Put

C. Talk /
D. Tell .\

Q.182 Choose the correct spelling of the “urﬂ|

A. Unull y -
B. Until = O
C. Untel { [/
i r. -
D. Antil A2 | '

Q.183 Choaose the correct sentence.
A. The weather in Ahgus! is ususajly very humul'
B. The weatherin Auuust is l.lsﬂ!ﬂll"u' very humidl. \
C. The weather in angu;r is usuml[jr very humid. J.
D. Thew éather in August :}ususallym HE[TJI:I

Q.184 It seldom .'\ QY in) herd I Febpdary.
A..". Rllmnﬂ T }

——

\ >

Q.185 _—apple a day keeps the doctor away.

D. No article
Q.186 The thlef has ____ all my belongings.
A. Robbed
B. Taken
C. Stolen
D. Taken away
Q.187 Choose the correct spelling of the word
A. Nite
B. Nigl
C. Nighte
D. Night
Q.188 We will arrange a party soon. This sentence shows:
A. Present
B. Past

C. Future
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D. None
Q.189 We're leaving, are you ready? - Not . Glve me 10 minutes,
A. Forme
B. Very much
C. Very many
D. Yet
Q.190 The raln {continue) Into the evenlng, ruining the plenic plans.
A. Continues
B. Will continue
C. Continued
D. Contauing
Q.191 Choose the correct sentence.
A. Charles Dickens wrote *A Tale of Two Cities', 'Little Dorrit”, A Christmas
Carol® and *‘Bleak House® amongst others.
B. Charles dickens wrote *A Tale of Two Cities?, “Little Dorrit", *A Christmas
Carol’ and *Bleak House™ amongst others.” ;
C. Charles Dickens wrote “A Tale of tw nicilies'.- *Linle dorrit’, *A Christmas
Carol’ and *Bleak House® amongst mhcrs )
D. Charles Dickens wrote *A Tale of Two Clllts ‘Little. Dﬂml *A Chrisimas
Carol” and *Bleak House” mnnnzsl others. .

Q.192 The chances ul'::,uurlmlng prumniut L H“é:- -
excellent. ® T >
A ls X
B. Are 1
C. Was / :
D. Be e
Q.193 We J\ A :wﬂkln Il:lhrur.hm
(;S;}_end_. ‘ﬁ\
B Sp:ndlng _
C Spcnds _
D. Amspmding — :
Q.194 Most people apreé that Idndnrg:rten contributes the
child's mental dev nlopmunl.
A. On S
B. To =
C. Among Y
D. Of

Q.195 Please tell us the story of Cinderella.
A. Declarative
B. Imperative
C. Interrogative
D. Exclamatory
Q.196 afMuent
A. careful
B. Clever
C. Wealthy
D. Educated
Q.197 Both of you the rules.
A. Knows
B. Knew
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C. No
D. New
Q.198 His shabby clothes and unkempt halr gave him a
appearance,
A. Discontented
B. Disrcputable
C. Disrespectful
D. Dispulalious
Q.199 Choase the correct sentence.
A. The colors in the curtains are; yellow orange beige and tan.
B. The colors in the curtains are yellow, orange, beige and tan.
C. The colors in the Curtains are yellow, orange, beige and tan.
D. The colors in the curtains are yellow orange beige and tan.
Q.200 What do you usually have flor breaklast?

A A A
B. An 4
C. The

D. No article /" f\ N

LOGICAL RE ASO‘JI\G

Q.201 What should come next to It book
A, Pages
B. Learning ‘
C. Pictures
D. Eraser -, . | 4
Q.202 Statement l-: stated in tht ment mm: ‘report the fémale to male ratio Is
alan:ulnglg' Iu“ I. The gmr:mm:nl should cunﬁu:(nnuiher census lo verify
th.-. rﬁulls 1. The gov ernmtnl ﬁiuuld Immmﬂntub Issue orders to all the
d!p :u-lm ents to encourage people l;nﬁtup rave the ratlo.
A. Bothof them follows
B. None of them follgws ,.
C. Only Iiollows
D. Oaly Il folloys y
Q.203 Factl: All :Irink II"I.' beverages Fact 2: All beverages are drinkable
Fact 3: All beverages aré red If the above three statements are facts than
which ol the I'nllnw{;g statement will also be a fact [. Some drink mixes are
red I1. All beverages are drink mixes. I11. All red drink mixes are drinkable
A, lonly
B. only
C. M only
D. None of them is n fact
Q.204 Which letter lles In the middle of word Quality?
AL
B.A
cC.u
D.Y
Q.205 Statement:
I. The government has declded to make all the Informatlon related to
primary educatlon avallable to the general public.

PMC PRACTICE BUNDLE 3 TEST 18 PAGE 22 OF 23

Scanned with CamScanner




Q.206

Q.207

Q.208

Q209

Q210

II. In the past, the general public did not have access (o all these Information
related 1o primary educatlon.

A. Statement 1 is the cause and statement 11 is ils efTect.

B. Statement II is the cause and statement 1 is its effect

C. Both the statements I and I are independent causes

D. Both the statements I and 11 are effects of independent causes

According to Oxfam report, Every Minute, People Die of Hunger
In The Warld?

A 10

B. 11

C. I5

D. Both Aand B

Secondary [s to Informal as honest Is to

A. Frank

B. Sincere q
C. Truth full -\
D. Wicked -
Which of the following is classified as :lmnln rm:k" \
A. Metamorphic i y
B. Sedimentary '
C. lgneous y
D. BothAandB &

Look at this series: 21, 21, 23 22,24, 23,
A 2".! i '
B. 24 L |

C. 25 5 T e

D. 26 _ \ \ ' W/

Slatl!lnl:nl! The gov ernment has ﬂrrlilﬂl to rnll back the hike in the prices of
mnung gas and Lerusene Some mlnlsters had resigned In protest against the
hike in prices of eu-nlﬂng gas and other pi¢ pétroleum products.
A.Iucmmemﬂllmeﬂhﬂ |

B. ITiscause and Tis effect :

C. Both iffﬂ;dtpﬂndfl]l causes

D. Both are effects of _indcﬁcntienl causes

As we know there is lot of mistakes in answer Keys of
PMC Practice tests, so [ have decided to rectify all in

proper in SKN STUDY GROUP
Join it
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